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Core Financial Modeling 
– Certification Quiz Questions 

Modules 9 and 10 – M&A Concepts and Full Merger Model 
 

1. Consider the scenario shown below, where Company A plans to acquire Company B for a 

25% premium, citing significant potential long-term synergies: 
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Company A keeps Company B’s Cash and Debt in place and does nothing with them. 

Assume there are no transaction or financing fees, and ignore items like the new D&A on 

Asset Write-Ups for simplicity. 

 

Based on this information, what are the Combined Company’s TEV / EBITDA and P / E 

multiples *immediately after the deal is announced*? 

 

a. Combined TEV / EBITDA = 13.0x; Combined P / E = 20.8x. 

 

b. Combined TEV / EBITDA = 13.0x; Combined P / E = 25.0x. 

 

c. Combined TEV / EBITDA = 14.7x; Combined P / E = 20.8x. 

 

d. Combined TEV / EBITDA = 14.7x; Combined P / E = 23.3x. 

 

2. One month after this deal is announced, the market becomes very skeptical of the 

“potential synergies.” Company A’s share price declines so that it reflects an expectation 

that Company B is worth only its pre-deal-announcement Equity Value of $80. 

 

In this scenario, which of the following will NOT happen? 

 

a. The Combined Equity Value and Combined Enterprise Value will both decrease by 

$20. 

 

b. The Equity Purchase Price will stay the same, so Company A will use the same 

*dollar amounts* of Debt and Stock to fund the deal. 

 

c. Since Company A will use the same *dollar amounts* of Debt and Stock to acquire 

Company B, the EPS accretion/dilution will remain the same. 

 

d. The Combined Net Income and EBITDA will be the same because each company’s 

separate Net Income and EBITDA will be the same, and the Interest Expense on the 

Transaction Debt will not change. 
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3. Consider a potential transaction between an Acquirer and a Target, as shown below: 

 

 
 

Assume that the Target has minimal Cash and Debt and assume a 25% tax rate for both the 

Acquirer and the Target. Based on this information and the constraints in the screenshot 

above, what mix of Cash, Debt, and Stock will the Acquirer use to purchase the Target? 

 

a. Cash = $500; Debt = $1,500; Stock = $0. 

 

b. Cash = $500; Debt = $1,300; Stock = $200. 

 

c. Cash = $500; Debt = $700; Stock = $800. 

 

d. Cash = $500; Debt = $1,300; Stock = $300. 

 

4. Continuing with this same question, will this deal be accretive or dilutive based on what you 

just calculated and the Costs of Cash, Debt, and Stock for the Acquirer? Ignore synergies, 

integration costs, new D&A on asset write-ups, and all acquisition effects except for the 

Foregone Interest on Cash, Interest on New Debt, and New Stock Issued. 
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a. Dilutive; the Weighted Average Acquisition Cost of 3.2% is above the Target’s Yield 

of 2.5%. 

 

b. Accretive; the Weighted Average Acquisition Cost of 2.4% is below the Target’s Yield 

of 2.5%. 

 

c. Dilutive; the Weighted Average Acquisition Cost of 2.6% is above the Target’s Yield 

of 2.5%. 

 

d. Breakeven; the Weighted Average Acquisition Cost equals the Target’s Yield of 2.5%. 

 

5. Consider the following Purchase Price Allocation schedule for this same M&A deal: 

 

 
 

Based on this schedule above, please calculate the Goodwill created in this deal. Assume a 

25% tax rate. 

 

a. $1,020. 

 

b. $1,005. 

 

c. $980. 
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d. $1,125. 

 

6. Consider the Combined Income Statement shown below, for an M&A deal between two 

restaurant/retail companies: 
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The Definite-Lived Intangibles created in this deal are approximately $55 million, with a 5-

year useful life, and the PP&E Write-Up is approximately $14 million, with an 8-year 

depreciation period. 

 

The deal is financed with approximately 65% Cash and 35% Debt, and the Debt allows for 

optional repayments if the company has excess cash flow. 

 

Based on this information and the screenshot above, which of the following answer choices 

represent LIKELY PROBLEMS with this Combined Income Statement? 

 

a. The Revenue Synergies and OpEx Synergies grow at very high rates, at over 3x and 

~10x, respectively, over 4 years; these assumptions are too aggressive. 

 

b. There’s no additional OpEx or COGS associated with the Revenue Synergies. 

 

c. The Integration Costs and Restructuring Costs do not appear on the Income 

Statement. 

 

d. The Interest Paid on New Debt stays the same each year, even though the company 

is likely repaying some amount of this New Debt over time. 

 

e. The Amortization of Intangibles and Depreciation of the PP&E Write-Up both seem 

too large, based on the assumptions above. 

 

f. All of the above. 

 

g. Answer choices 1, 2, and 3. 

 

h. Answer choices 1, 3, 4, and 5. 

 

i. Answer choices 2 and 4. 

 

j. Answer choices 1, 2, and 4. 
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